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C1

more vegetables than C2.

less fruit than C1.

a higher calorie intake than C2.

a lower sugar intake than C1.

more dairy products than C2.

fewer grains than C1.

a greater variety of proteins than C2.

a smaller portion size than C1.

more processed foods than C2.

fewer organic options than C1.




Answers

C1 more vegetables than C2.
Answer: eats

C2 less fruit than C1.
Answer: eats

C1 a higher calorie intake than C2.
Answer: has

C2 a lower sugar intake than C1.
Answer: has

C1 more dairy products than C2.
Answer: consumes

C2 fewer grains than C1.
Answer: consumes

C1 a greater variety of proteins than C2.
Answer: has

C2 a smaller portion size than C1.
Answer: has

C1 more processed foods than C2.
Answer: consumes

Cc2 fewer organic options than C1.
Answer: consumes



